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Listing 1 How to count words
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Chi-Square Calculator

Note: You can find further information about this calculator, here.

This is a chi-square calculator for a simple 2 x 2 contingency table (for alternative chi-square calculators,
see the column to your right).

The first stage is to fill in the group and category information. So. for example, if you have collected data on
smoking habits, and want to find out whether smoking is related to gender, you could have "Male" and
“Female” as the two groups, and "Smoking” and "Non-Smoking" as the two categories.

R #rosu

Chi-Square Calculator

The next stage is to fill in your values. Remember, the data is categorical - the number of subjects observed
for each cell (for example, Male Smokers, Male Non-Smokers, Female Smokers, Female Non-Smokers). If
you go wrong, you will get a chance to edit your data at the next stage.

EFRRE H#HroglL
] 21832 10515
28 21624 14254

Please enter group and category values.

Next

Chi-Square Calculator

Okay, we've now set up the 2 x 2 contingency table, and we're almost ready to do the chi-square
calculation. However, before you hit the "Calculate” button. you need to select a significance level. It
defaults to .05, but you can choose .01 or .10 if you prefer. You should also take a moment to check your
data, and make any changes you require by clicking "Edit".

R H#Hival Marginal Row Totals
o] 21892 10515 32407
EH ] 21624 14254 35878
Marginal Column Totals 43516 24769 68285 (Grand Total)

Significance Level:

.01
© .05
.10

Remember, if you're ready to make the calculation, then you need to select a significance level.
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Please enter data values for your categorical variables.

Next |

Chi-Square Calculator

Success! The contingency table below provides the following information: the observed cell totals, (the
expected cell totals) and [the chi-square statistic for each celll.

The chi-square statistic, p-value and statement of significance appear beneath the table. Blue means you're
dealing with dependent variables; red, independent.

i HEUZL argnal Row
il 21892 (20652.02) [74.45] 10515 (11754.98) [130.8] 32407
£ 21624 (22863.98) [67.25] 14254 (13014.02) [118.15] 35878
Marginal Column 43516 24769 68285 (Grand
Totals Total)
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If you've found this tool useful, please consider sharing it!

The chi-square statistic is 390.6453. The p-value is . This result is significant at p < .05.

Back Home Back to Calculators
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